JHIRZVRAX Xmas/S—T 4

t— ~ZE

U /N—H )L

I17EVYAML—3>3 2 874 7IILWET3F5Q2V1

3747 J)LR1IC1S]

1:00 &&=,
ST A =T

2:00 B>REA L

2:30 FZA47 LN 1H
(Fr: pzq /AT ERAYV|[IXEL TV L IFH NV NV
IH G s BE malies B =4 ar|oo0 R SH# R2
NZATIV FyFyF e 1IH
A¥Kz psa /A ERVIw o s O A
1H = p = BT L oadp ZH#® Cl ZH% C2 ZHP% C3
~NZA 7L BN 1H
IH s g ma g % ST HEH S2 HEH S3

2:40 RYREZALKTVHRAV LY Ry

1/4



J IRV Xmas/S—T 4 E— 2|
° — -7 (N

3:10 A7) 7 6H

EYY HX3 /AI e@av|[I/¥EL TV, e W1 w7
1H EH —i BFE REFERA H 8% U%J}éaﬂ =Bk

L7Hh /I—ﬁ)lTﬂ'/f 53T ah Va7 ,x4 a=1 Y A, M2 A
2HIRE 8 A sez|nE - apm sz|oon W2 = AR We

s/0% kA3 /A ey |7FEP TV LS54 TValy o Ly

A ‘ \ W3 2 W9

SH lex 7 ®5F w&(tskc B N@E BRI =B

jj.z\/\\l VA g 2x1 TV eV I, s\ o \W4 w ek W10
4K s K FE w7 |FIE AR 8% U%&éaﬁ =B

7Y 4410 J h= EOov|an 2. bo% \l/ H, L

7 eaviay Y W5 A W11
OH i mx mr wa|aw - M x| 00 SE%

IFE K HYF TILY 743 Z= N /rﬁ)hj-jjy\‘; 1o NE A W6 \,Elj.b W12
oM sx mEon BFEE 4 0 zer e

A7 X3 3H

et s JAHI epYv|Z~EN IV 5% J_E\ " AT " r T4
1R X5 S27 51 waltek B me me|20F =B

ATIEYIE \g  axs (A V2T EZAHT I uion T Lo TS
2H i HA Fm nez|ne B A zm|ZAF ki
3 H % 74:' JH I EAv|7o>~ li"j'ﬂf,fg—%—u = %ET& -|—3 %EITZP—J -|—6

B OET BE B

FIE AfE 29 0AF

2/4



J IRV Xmas/S—T 4 E— 2|
3:40 BYARXALITVYHRAY L YRV
4:10 +=>47J) XO— bH
£Yl) AHAX=I JHI kX |IFEL TV r3FH s W
I 25 “wer wgles B =x 4|20 Fl S H% F6
y44 »39 /A ERY|DH Yaw-h7Y TUI|y \ls
N m a7 BE BEr - w2 pF|C0 T SHR
HhT7JLT VIA& k& 2% TR Y3 ALz A/
3H JIAEs K FE ®ieF |FI1E AfE 1%‘5*1 Oy = HP F3 SRR F8
sO% kb@a W |ZFELN TU s s
4 H s4 27 ] F Bk sk M %/E% U%&éEIT%& F4 “HZ% F9
Z:/“ T4 JHI env|FIrvw evIiTvhAHNT 2T al,, L
SH s =7 mr wmlzie sz g pzp|=0F SHER FI10
LA A L 3
~>A 77 A4 w2y 2H
7 0% toa /A= EAOv|., NV,
1H =A T 8L ﬁ”ﬁéaf@ 01 WHB 03 WHB 05
7Y A4 ;3 ",
2H | w= é%l 51—1%7 LR%R 02 LA 04 LEHAE 06

KX ARA L 3HH

3/4



JHIXVZX Xmas/X—T ~4 e — k=

AT T4=Z—X 1H

7Y 743 A k@Y
1H |4

JEBE®R Vwl L AR Vw2
e A HEH Vw

LHEHZE Vw3

4:50 XURRAL

5:05 TEVXPML—3 g

L s azxx  mr o2 VY

JHIZVRAR=YI 5T

+AHLZ AYeEOD BEOE A3 . .
2 i psh - Gl BT AR=7 47X

A+ FI 730 J A3 E Oy

BE AXF  Hr gy 0 /FV7ANAVE

JHIXVARR=Y 5T

5h:16 XU RAXA L
J4F—L
HES

4/4



